CQGRAVELY

A DIVISION OF CLARKE-GRAVELY CORPORATION
A Studebaker-Worthington Company

12

ILLUSTRATED
LIST

PARTS

PLOW/CULTIVATOR DRIVE
Model No. 23334
Form No. 23345 (9-77)

PRINTED IN USA

ITEM NO. PART NO. DESCRIPTION

I 22225 Shaft, Drive

2 22229 Bearing, Ball; .984 x 2.047 x .591
3 22226 Race, Thrust; 1.002 x 1.552 x .155
4 22227 Pinion, Bevel Rotary Plow

5 22242 Ring, Retaining; .937 Shaft

6 413534 Nut, Lock; 3/8-16 Washer Insert

7 411027 Fitting, Lube; 1/4-28

8 180166 Bolt, Hex; 1/2-13 x .500

9 22221 Housing, Gear

10 22228 Housing, Drive Shaft
11 22240 Clutch, Dog

12 180137 Bolt, Hex; 3/8-16 x 2.750

13 180175 Bolt, Hex; 1/2-13 x 1.25

14 120384 Washer, Lock; .500 SP

15 22230 Shim, .005

16 22231 Shim, .020
17 180121 Bolt, Hex; 3/8-16 x .875
18 120382 Washer, Lock; .375 SP
19 22241 Bearing, Ball; 2.165 x 3.543 x .709
20 5315 Gear, Bevel

21! 22219 Hub, Bevel Gear

22 187070 Bolt, Hex; 3/8-16 x 2.562

Bre

22222 Pla{, Gear Housing

ntCha

mers.com





